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It is known that m,=3kg and my=2kg. Determine
accelerations a,, a, of bodies 4 and B, and tension
force T in the string at the instant shown in the
figure (Neglect all friction and the mass of the

pulleys).

Link 4B has a length a=400mm, and link BC has a
length b= 600mm. The circular disk has a radius

r=250mm which rolls without sliding on the ground.

At the instant shown in the figure, #=30° and link
AB rotates with an angular speed ®,,=0.5rad/sec.
Determine velocity vc of joint C, angular velocity
@, of link BC, and angular velocity @cp of the

circular disk.

A moment M=10N-m is applied to the uniform
slender rod which is initially at rest. Therod hasa
mass m=2kg and its center of mass is G.
1) Draw free body diagram of this rod.
2) By solving equations of motion, obtain:
' a) Reaction forces R, and R, at support 4 at
this instant.
b) Angular acceleration a of this rod at this
instant.

A constant force F=4N is applied to a uniform

slender rod which is initially at rest in the 8=90°

position. The rod has a length £=500mm and a

mass m=0.3kg. Center of mass of this rod is at G.

a) Locate instantaneous center of zero velocity of
this rod as it is at the position 6=45°.

b) Determine angular velocity @ of this rod as it
passes through the position for which 6=45°.
Neglect the mass of the pins and friction in the
system.




